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Start with the biggest number and
then count backwards.

9-4=7

Start at 9 and count back
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Use known addition facts to
help with subtraction.

7+5=12
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Rearrange the number sentence and
make it an addition problem.

9-4=7
2+4=9

— Start at 4 and think:
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Use adding doubles to help with
subtracting doubles.

8-4=1

The doubleof4is 8
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Break the numbers down into easier,
more manageable parts.

164-48 =7

164 -40|=124

- 124- 8 /=116
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Find numbers that are
combinations of ten.

15-8=2

15-5-3=2?

- 10-3=7
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Expand the numbers into places before
subtracting and adding the parts together.

24-13 =2

%//7//;/_— ® (1z;+t1):)11.
2 24-13=11
%_ &

o




/ / p /g /@ 7
7 4 /4 4 / /] 4 /
7 7 7 7 / 4 / / V % /e 7
Z / 7 1 M &2 W / 1 2 / / 7 7 1 B. >
7 1 W& ¥V W MM ¥ W / / / 7 1 W 7 % 7
NRRIVIR . © ) SR AAIRT D
D )

R 7 a7 3 ) &2, % ] B 4 ;
V7 7777774 77 V7728 7207777727 772 777773 V772 V77 727772 74 A 77 77 V774

/

V774

Round one or both numbers before
subtracting, then adjust the answer to
compensate for the rounding.

19-12=7?

(20-12)-1=?
%/7//;/ | add 1 to maITe 20 subt?acﬂ to compensate for rounding /
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